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Exercice !

Résoudre les équations suivantes :
2): -13x+5+2x=-11+7x+4

4: 5x+5+2x=-1+7x+6
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@: —3x+5+7x=2x-11
3): 11x—7+2x=-5-3x

6): —6(4x+1)+15=30x+5-2(3x—2) 3): 5(-3x+2)+15=3x+7—-2(4x—1)
8): —6—(—2x+6)—3=4x+6—3(4x—-7) 7): 2(—4x+3)-7=6x+3-6(2x—-9)
ECEE 2 2

Résoudre les équations suivantes :
-3x+1 2 4x-5

x-3 5 6x-5 x-7
2): + -(x-1 1: +—= -
2) 7 t3= 7 &b @ 7 27 14 2
2x—-4 x-5 -3x+2 5x-1 7x-3 x-2 -=-5x+4 x-5

@M: - = - (3): - + _ _

9 2 18 6 6 3 15 5
3): x+1_1=3x+11_3x—6 2): —3x+2+§=2x+3_7x—4

4 6 12 5 3 15 5
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Résoudre les équations suivantes :
2): 53x-1)—-7=24x-1)+7x—-12
@: 23x-1)—-6(x—3)=16

6): (2x—-3)"+2x>-9x=3x(2x+4) -

@D: x+3)-3x-7)—-10x-6=0
3): 3(x—9)—2(x—3)=5(2x—-5)-2
S): x+3)-3x-7)=2x+10
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Résoudre les équations suivantes :
2): (xX*-9)-(x+4)(2x—-5)=—x"+5x D: 2(dx-1D-7=2(x+3)+5x—-2
“4): —Ex—5=—x+z 3): EX—§=—1 7
9 2 3 2 3 2
- ~2 2x-5 2x+4
6): 3x 7_x+1=1_x+4 5): X 2 42
12 2 6 3 3 5 15
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Résoudre les équations suivantes :
2): 2x-5x+1D=0 D: x-3)(x+2)=0
@: 4x2x+3)Bx—-7)=0 3: Bx+5)E-3IHx+2)=0
6): x-52x—5+(—=x+2)2x—-5)=0 3): 3Ix(x-3)—2(x—3)=0
| _Exercice [ . I

Résoudre les équations suivantes :
8): (2x+3)°’-(2x+3)(x-1)=0
10): (x*-9)-(x-3)2x-5)=0
(12): 81(3x—-2)*=16

(7): Bx+57—-(x+2)"=0

9): 2x-3)>—(4x*—9)+3x(2x—3)=0
aAD: Bx-1)*-25=0

Bonne Chance
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